PROVISIONAL ANSWER KEY
Question Paper Code: 01/2014_T

Lower Division Clerk,Various,
Medium of Question: Tamil

Date of Test: 04/01/2014

B
D
C
B
A
C
B
D
B
A
D
C
A
B
C

D
B
A
C

D
A

B
C
A

B
C
C
D
C
A
B
D
B
D
D
A
A
B
C
C
D
C
A
C
A
B
C
A
B

0 &)

DIB[A
BI[AI[B
A|[D]B

c{Cc|D
DICI]A
BI[AI[B
A[B|D

D|B]|C
C[{D]B

ClAlA
A|BIC
B[DI[B

B|C|D
D[{BI[B
A[ATA

B|C|D
D|B]|C
CID]A
B[BI[B

BlA|[D
CI{BlA
CID]A
D[{BI[B
c{b|C
A[D]|D
BIA[A
DIAIB

B|B]|C
DICI]A
D[DI|B
A|lA|[C
A|B|C

B|C|D
ClA|C
DIB[A
A|CI|B

B|C|D
C[{D]B
A|lC|D
C[{B]B
A|lC|C

BIA|[D
c{B|C
A|JCIA

B|D]|C
CIClA
DIAIB

c|Cc|C

Q. | QnBooklet Alphacode

No.
51

52
53
54
55
56
57
58
59
60
61

62
63
64
65
66
67
68
69
70
71

72
73
74
75
76
77
78
79
80
81

82
83
84
85
86
87
88
89
90
91

92
93
94
95
96
97
98
99

100l AJALA

(@] m

C

B

D

D

D

B

B

D
B

A

C

A

D|CIB

DIA[C

D[D]|D

CICl]A|C

DICIC]|A

A|JCIA]D

Cl|A|]C]|C

CICJ]A|D

B

B

B

Q. | Qn Booklet Alphacode

2
3

5

=
8

I0[C]A|DJA
11[{D]|BJ]A[B
12[A]J]C|]C|[C
13[|CJ]A|D[C

14D | C | B

IS5|A|JDJA[C

16[B|A|B

17]C|C|C| A
18|A|DJ|JC|[C

19[C|B|B

20]|D|JA[C]A

21

2|A|D[A]C
23|CJ]A[A]C

24| D1 DB

25
26

27|D]JA[C]A
28|AJA[C]|C
2|D|BID]|D
30|D]JA[C]B

31| B|A[B

32|A|C[A]D
33[|A|C|C|A

34

35|A|C|B

36|A| BB

37|]CIA[D]A
3B|C|C[A]A
| D|D[D]B
40| C|B[D] A
411 AJA[C | D
42| C|D|D]|B

43| B[ C | B

4| D]IAJALD

45

46| A|lC[D]|C

47| D[ D | B

48| C|[B|A|B
9| A|[A|D]|B
50[BIC|C]|D




